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Find the minimum distance from the point (a,0) to the ellipse X + y2 =1
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Using the square of the distance we have :
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Note that this is the square of the distance so the minimum distance is |1 - %
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The points on the ellipse closest to (a,0) is Lﬁ ﬂj and (4—; , %}
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This is not the complete story. Note when a=3/2 x=2andy =0 so you are at the vertex.
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Fora>3/2 the x and y coordinates [4—: , %} and (4—; , _9%] no longer satisfy

the equation of the ellipse.
So for a > 3/2 the minimum distance is the distance from (a,0) to (2,0) or | 2-a |.

The minimum distance is:

2
d= |1 ifa<d
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See the animation Minimum distance from a point to an ellipse



http://www.calculus7.com/sitebuildercontent/sitebuilderfiles/ditanceelips.avi

